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Instructions

i. This paper consists of Part A and Part B.
ii. No of Questions:
Part A -10
Part B - 04
lii. Answer all questions.
iv. Attach Part A of the question paper at the end of your answer script.
iv.  You are strictly advised NOT to take Part A of the question paper out of the
examination hall.

Part A

Answer question 1-10 in Part A by underline the correct answer.

01)  This sub-area of finance looks at firm’s decisions in acquiring and utilizing cash.
a) Investments
b) Financing
¢) Treasury management
d) None of these



02)  Which of the following statements is correct regarding profit maximization as a
primary goal of the firm?
a) Profit maximization will not lead to increasing short-term profits at the
expense of lowering expected future profits.
b) Profit maximization considers the firm's risk level.
c¢) Profit maximization does consider the impact on individual shareholder's EPS.
d) Profit maximization is concerned more with maximizing net income than the

stock price.

03)  Which of the following would be consistent with an aggressive approach to financing
working capital?
a) Financing permanent inventory buildup with long-term debit.
b) Financing short-term needs with short-term funds.
¢) Financing some long-term needs with short-term funds.

d) Financing seasonal needs with short-term funds.

04) A profitability index (PI) of 0.56 for a project means that
a) the project's NPV is greater than zero
b) the project's costs (cash outlay) are (is) less than the present value of the
project's benefits
¢) the project returns 56 cents in present value for each current Rupee invested

d) the project's NPV is greater than 1

05)  Which of the following is not considered to be an appropriate form of finance for
capital investment projects?
a) The issue of a debenture.
b) A bank overdraft.
¢) Leasing

d) An issue of share capital.



06)

07)

08)

09)

If the capital market is semi-strong efficient
a) Investors will be able to make consistent gains by studying and making use of
all available public information about the shares
b) Investors will not be able to make consistent gains by analyzing the buying
behavior at the stock market
¢) Investors will be able to make consistent gains by studying and making use of
information which is not available to the public

d) None of above are correct

A stock of an company has an expected return of 12.25 percent. The beta of the stock
is 1.15 and the risk-free rate is 5 percent. What is the market risk premium?

a) 6.50%

b) 15.00%

c) 6.30%

d) 7.25%

Which of the following investment alternatives would provide the greatest ending
wealth for the investment?

a) 8% compounded daily (360 days).

b) 8.55% compounded quarterly.

¢) 8.25% compounded annually.

d) There is no sufficient information to determine the best alternative from the

above alternatives.

Janaka won a contest that has paid a single LKR 5,000. At 22, he has decided to
invest these funds for 45 years until he retire. During this time his account will earn
13%, compounded annually, every year. As soon as Janaka retire (exactly 45 years
from today) he will invest the total amount at an interest of 8% compounded annually
and will start withdrawing retirement funds in the end of every year for an additional
33 years. How much can he withdraw each year in retirement?

a) LKR 23,306

b) LKR 106,237

¢) LKR 282,201

d) LKR 1,223,207



10)

Sumith expects to deposit the following cash flows at the end of years 1 through 3,
LKR 1,000; LKR 4,000; LKR 9,000; LKR 5,000;: and LKR 2,000 respectively.
Alternatively, he could deposit a single amount today at the beginning of year 1.
How large does the single deposit need to be today if Sumith can earn 10% interest
compounded annually?
a) LKR 15,633.62
b) LKR 21,000.00
c) LKR 25,178.10
d) LKR 27,695.91
(02 X 10 = Total 20 Marks)



(01)

(02)

a)

b)

d)

a)

Part B
What is meant by agency cost? Explain with examples.
(05 Marks)

Tanasha plans to make 30 quarterly deposits of LKR 5000 into a savings
account. The first deposit will be made immediately. The savings account pays
interest at an annual rate of 7%, compounded quarterly. How much will
Tanasha have accumulated in the savings account at the end of the seven and a
half-year period?

(05 marks)

Mrs. Senevirathne would like to support the education of one of her relations,
Nimantha, who plans to begin university education in three years. How much
will Mrs. Senevirathne have to invest today, at an interest of 7 percent, to be
able to give a stipend of LKR 4,000 at the beginning of each year for four
years of Nimantha's university education.

(05 marks)

Explain what working capital management is and briefly discuss the
importance of working capital management for an organization.

(05 marks)

(Total 20 Marks)

Senuda Electricals has two investment opportunities, each with an initial cost

of LKR 70 Million and each having the expected net cash inflows shown

below. LKR (in Millions)
Project X | ProjectY

Cash Inflows  Year 1 10 50
Year 2 20 40

Year 3 30 20

Year 4 45 10

Year 5 60 10

Total 165 130




(03)

b)

a)

Assume no residual values at the end of the fifth year. The firm's cost of
capital is 10%.

You are required to

Calculate the net present value for each project.

On the basis of NPV, advise the company whether these projects should

be undertaken.

(08 Marks)

You have been given the following information with related to Kandy Tera
Ltd.

Current activity level 50,000 units
Sales price per unit LKR 25
Variable cost per unit LKR 14
Fixed operating costs LKR 160,000
Interest payments LKR 47,000

You are required to calculate the following for Kandy Tera Ltd.

Degree of Operating Leverage
Degree of Financial Leverage
Degree of Total Leverage
(06 Marks)
How EBIT-EPS analysis can be used in deciding a capital structure of a
company? Explain.
(06 Marks)
(Total 20 Marks)

The capital structure of Canfi Products Company Ltd. is as follows.

LKR (000)

Ordinary shares of LKR
10 each 52,000
Retained Earnings 15,600
12% Preference shares of
LKR 10 each 18,000
11% Debentures of LKR
100 each 90,000
14% Long term loan 800

176,400




(04)

The preference shares are currently selling at LKR 20 per share and the debentures are
currently selling at LKR 108 per each. 11% debentures are redeemable at par in 6
years’ time. Company currently pays an annual ordinary dividend of LKR 2.20 per
share. This ordinary dividends of the company are expected to grow at a 7 % annual
rate for each of the following two years, and then settle down to a steady state growth
rate of 5% annually. The market price of LKR 10 ordinary share is LKR 25. The
ordinary dividend and debenture interest are due to be paid in near future and

preference dividend has just paid. Assume that the corporate tax rate is 30%.

You are required to calculate the Weighted Average Cost of Capital (WACC) for
Canfi Products Company Ltd. based on market values. (If required, use only 6%

and 10% discounting factors for your calculations.)

(15 Marks)

b) Explain the difference between Weighted Average Cost of Capital and Project
Cost of Capital?

(05 marks)

(Total 20 Marks)

Write short notes on following:
a) Stable dividend policy
b) Risk diversification
c) Signaling theory as a capital structure theory
d) Difference between Net Present Value (NPV) method and Accounting Rate of
Return (ARR) method
(Total 20 Marks)






. . Present Value and Future Value Tables

Table A-3 Present Value Interest Factors for One Doliar Discounted at k Percent for n Perlods: PVIF .= 1 /(1+K)"
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